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(English Version)

Instructions:

(i)
(1)

(r11)

(re)

(v)

(vr)

(vit)

(viii).

(ix)

(x)

822 (AV) 9 | P.T.O.

First 15 minutes time has been allotted for
examinees to read this question paper.

This question paper contains seven questions
in all. '

All questions are compulsory.

At the beginning of each question, it has been
mentioned that how many parts of it are to be
attempted.

Marks allotted to each question are mentioned
against it.

Start from the first question and proceed to the

last. Do not waste time over a question, which
you cannot solve.

Write the steps of solution of all the questions
except question number 1.

Write the solutions of the questions on both
sides of the answer-book. If space for rough
work is required, use the left page of the
answer-book and cross (X) it. Do not write any
solution on this page.

Do not erase the construction lines in the
questions relating to construction. Do write
steps of the construction in brief.

In solving the questions, explain your answer
with the help of neat and correct diagrams
where necessary. Such questions without
diagrams will be treated as incomplete and
incorrect.

https://www.upboardonline.com

Do all the parts : |
Four alternatives of the answer of each pfart are
given, out of which only one is correct. lojlck out
the correct alternative and write it in your
answer-book.

(a)  Of the given numbers, the prime number

will be :
@ o0 Gi)y 1
(iii) 2 . (iv) 8

(b) The discriminant = of the equation
3x2 — 2x + % =0 will be :

i 3 (i) 2

(i) 1 “@v) O
() IfsinA= 2, then the value of cos A will
be :
. 5 .y 4
)] 1 (ii) 5
5 . 4
(iii) 3 (iv) 3

(d) Areas of two similar triangles are in the
ratio 4 : 9. The ratio of sides of the

triangles will be :

i 2:3 (i) 4:9

(iii) 81:16 (iv) 16:81
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(e)

®

2. Do all the parts :

(a)

(b)

(c)

(d)

322 (AV)

The arithmetic mean of 3, 4, 6 and x is 5, 3. Do all the parts : d 404 b
then value of x will be : 1 (a) Find the HCF afld I_»CM of 96 an Y
@ 5 Q) 2 | the prime factorization method.
Gii) 7 (iv) 3 (b) For what value of 2 will the pair of linear
. -3 = d
, _ equations  kx+3y-(k-3)=0  an
Distance between two points (2, 3) and 12x + ky — k = 0 have infinitely many
(4, 1) will be : 1 solutions ? https://www.upboardonline.com
@ 2 i ; -
@ 248 (¢ A ABC is an isosceles triangle, right
i) 2v2 (iv) 3 angled at C. Prove that
AB% = 240
. : (d) The radius and height of a cylinder is
If ) .
) one rtoot of - the quadratic equation 4 em and 14 cm respectively. Find the
x° — 2kx — 6 = 0 is 3, then find the value of curved surface area of the cylinder.
k. 1
4. - Do all the parts :
) 2 tan 30° ) '
Find the value of L+ tanZ30 " 1 (a) Given that HCF (306, 657) = 9, find the
+tan ~ value of LCM (306, 657).
(b) If sin 8A = cos (A — 26°), where 3A is an
If area of two equilateral triangles are acute angle, find the value of A.
2 2 - - ‘
169 cm® and 225 cm® respectively, find (c)  When a 10 m long ladder is put against a
the ratio between their corresponding wall it reaches a window 8 m above the
sides. , 1 ground. Find the distance of the foot of
. the ladder from the base of the wall.
i 1 f th ight of
The anthmt'etlc mean o . ¢ weight of - (d) Draw a line segment of length 5-8 cm and
12 persons is 456 kg. Find the sum of divide it in the ratio 4 : 3. Measure the
their weights. 1 two parts.
11 - P.T.O. 822 (AV) 12
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6. Do all the parts :

(a)

(b)

| (c)

(d)

jBZZGAV)

Find the two numbers whose sum is 27
and product is 182.

If p is the length of the perpendicular
drawn from the origin to the line which

intercepts @ and b from the axes, then

prove that iz = lz + iz
p a b

A

The base perimeter and vertical height of
a right circular cone is 247e¢m and 5 cm
respectively. Find the volume of the cone.

The following distribution shows the
daily pocket allowance of children of a

.lt)caliig,‘r. The mean of pocket allowance is
¥ 18.Find the missing frequency f. -

Daily Pocket Allowance |.  No. of

(in & Children
11-13 7

13-15 . 6

15 -17 9

17-19 13

19-21

21 -23 5

23 - 25 -4

13 _ P.T.O.
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6. Do all the parts:

(a)

(b)

(e)

822 (AV)

The sum of squares of two consecutive

even positive numbers is 244. Find the

numbers.

In the given figure, sector OACB is a
quadrant of a circle with centre O and
radius 3-5 cm. If OD = 2 cm, then find
the area of the shaded region.

C

Brc— 35 cm ——-HO
Construct a triangle with sides 5 em,
6 cm and 7 ecm and then construct

another triangle whose sides are % times

of the corresponding sides of the first

triangle.

14
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(d) Find the median from the following (b) The angle of elevation of the top @ of a

frequency distribution table : 4 vertical tower PQ from a point X on the

o ground is 60°. From point Y, 40m
Class Interval | Frequency vertically above X, the angle of elr'avatmn
0-10 ' of the top @ of the tower is 45°. Find the
B — ° height of the tower PQ and the distance
10-20 9 Y 6
20 - 30 12 | OR
30-40 8 The angle of elevation from point O to a
40 - 50 | 15 vertical tower standing in the same

horizontal plane is 30°. After walking
40 m towar‘dsll the tower, the angle of
elevation becomes 60°. Find the height of
the tower. 6

7. Do all the parts :

(a) Solve the following pair of equations
reducing them to a pair of linear

equations : 6
0 + 1 =2
x—1 y-2
2 1 1
x-1 y-2 3 https://www.upboardonline.com
. Whatsapp @ 9300930012
OR ' Send vour old paper & get 10/-
The speed of a boat is 4 km/h in still : F [ A9 A AR 10 IR 9,
aytm or Google Pay @&
water. It takes 8 hours to travel 12 km : ree
downstream and 12 km upstream. Find
the speed of the current. 6
822 (AV) 15 P.T.O. 822 (AV) 16 3,20,000
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